

2 כ"ל 121
 4 נ"ד נ"ד 121 δ ρ נ"ד 121

$$\forall x, y \quad 0 \leq \left| \frac{x^3 + y^3}{x^2 + y^2} \right| \leq \frac{|x^3|}{x^2 + y^2} + \frac{|y^3|}{x^2 + y^2} \leq \frac{(K) \cdot 1}{|x| + |y|}$$

"y'1210" ρ N ל δ ρ δ

$$\lim_{\substack{x \rightarrow 0 \\ y \rightarrow 0}} \frac{x^3 + y^3}{x^2 + y^2} = 0 = f(0,0)$$

ל ρ δ 121 y=0 δ ρ δ 121 (2)

$$\lim_{\substack{y \rightarrow 0 \\ x \rightarrow 0}} f(x, y) = \lim_{x \rightarrow 0} \frac{x^5}{x^3} = \lim_{x \rightarrow 0} x^2 = 0$$

ל ρ δ 121 y = -x + x^3 δ ρ δ 121 δ 121

$$\lim_{\substack{y = -x + x^3 \\ x \rightarrow 0}} f(x, y) = \lim_{x \rightarrow 0} \frac{x^5}{x^3 + (-x + x^3)^3} = \lim_{x \rightarrow 0} \frac{x^5}{1}$$

$$\lim_{x \rightarrow 0} \frac{x^5}{x^3 - x^3 + 3x^5 - 3x^{10} + x^{27}} = \lim_{x \rightarrow 0} \frac{1}{3 - 3x^5 + x^{22}} = \frac{1}{3} \neq 0$$

ρ" ρ ρ δ lim f(x, y) ρ δ
 x → 0
 y → 0

$$\frac{\partial f}{\partial x}(0,0) = \lim_{x \rightarrow 0} \frac{f(x,0) - f(0,0)}{x} = 0 \quad (K) \cdot 2 \cdot \rho \delta \cdot K$$

$$\frac{\partial f}{\partial y}(0,0) = \lim_{y \rightarrow 0} \frac{f(0,y) - f(0,0)}{y} = 0$$

ρ 3 ρ δ δ ρ δ ρ δ ρ δ

$$f(x, y) - f(0,0) = 0 \cdot x + 0 \cdot y + \varepsilon \cdot \sqrt{x^2 + y^2}$$

$$\varepsilon = \frac{x}{\sqrt{x^2 + y^2}} \sin\left(\frac{y}{x}\right) + \frac{y}{\sqrt{x^2 + y^2}} \sin\left(\frac{x}{y}\right)$$

$$\frac{x}{\sqrt{x^2+y^2}} = \frac{x}{|x|\sqrt{2}} = \pm \frac{1}{\sqrt{2}} \quad \text{by } \rho \text{ of } \mathbb{R}^2 \text{ } x=y \quad \text{for } \rho > 0$$

$$\frac{y}{\sqrt{x^2+y^2}} = \pm \frac{1}{\sqrt{2}}$$

$$\epsilon = \pm \frac{1}{\sqrt{2}} 2 \sin\left(\frac{1}{x}\right) \xrightarrow{x \rightarrow 0} \rho \text{ of } \mathbb{R} \quad \rho \delta$$

(90) $\lim_{\substack{x \rightarrow 0 \\ y \rightarrow 0}} \epsilon = 0$

$$\epsilon = \frac{x^2}{\sqrt{x^2+y^2}} \sin\left(\frac{y}{x^2}\right) + \frac{y^2}{\sqrt{x^2+y^2}} \sin\left(\frac{x}{y^2}\right) \quad (2)$$

$$\forall x, y \quad |\epsilon| \leq |x| + |y| \quad \rho \delta$$

$\lim_{\substack{x \rightarrow 0 \\ y \rightarrow 0}} \epsilon(x, y) = 0$

and $|\sin| \leq 1$ $\frac{x^2}{\sqrt{x^2+y^2}} \leq |x|$

$$\frac{\partial f}{\partial x}(0,0) = \lim_{x \rightarrow 0} \frac{\sqrt[3]{x^3} - 0}{x} = 1 \quad \text{3 } \rho \text{ of } \mathbb{R}$$

$$\frac{\partial f}{\partial y}(0,0) = \lim_{y \rightarrow 0} \frac{\sqrt[3]{y^3} - 0}{y} = 1$$

$$\sqrt[3]{x^3+y^3} - 0 = 1 \cdot x + 1 \cdot y + \epsilon \sqrt{x^2+y^2} \quad \rho \text{ of } \mathbb{R}^2$$

$$\epsilon = \frac{\sqrt[3]{x^3+y^3} - x - y}{\sqrt{x^2+y^2}}$$

for $y=0$ and $x \neq 0$ $\rho \text{ of } \mathbb{R}^2$
 $\sqrt[3]{x^3+y^3} = \sqrt[3]{2x^3} = \sqrt[3]{2} x$

$$\sqrt{x^2+y^2} = \sqrt{2} |x|$$

$$\epsilon = \frac{(\sqrt[3]{2} - 2)x}{2\sqrt{2}|x|} \xrightarrow{x \rightarrow 0} 0$$

(90) $\lim_{x \rightarrow 0} \epsilon = 0$

$$\frac{\partial f}{\partial x}(0,0) = \lim_{x \rightarrow 0} \frac{\sqrt{|x^3|}}{x} = \lim_{x \rightarrow 0} (\pm |x|^{1/2}) = 0$$

$\frac{\partial f}{\partial y}(0,0) = 0$) N/A / 21112

$$\sqrt{|x^3+y^3|} = 0 \cdot x + 0 \cdot y + \epsilon \cdot \sqrt{x^2+y^2}$$

$$\epsilon = \frac{\sqrt{|x^3+y^3|}}{x^2+y^2}$$

$$\lim_{\substack{x \rightarrow 0 \\ y \rightarrow 0}} \frac{x^3+y^3}{x^2+y^2} = 0$$

NS/K'3) 2/2 / f(x,y) K's; $\lim_{\substack{x \rightarrow 0 \\ y \rightarrow 0}} \epsilon = 0$

$$\frac{\partial f}{\partial x}(0,0) = \lim_{x \rightarrow 0} \frac{f(x,0) - f(0,0)}{x} = 5 \text{) } \delta \text{ K'}$$

$$= \lim_{x \rightarrow 0} \frac{\frac{1}{x^2} e^{-\frac{1}{x^2}}}{x} = \lim_{x \rightarrow 0} \frac{e^{-\frac{1}{x^2}}}{x^3} = \lim_{t \rightarrow \pm\infty} \frac{1}{t^3} = 0$$

$$= \lim_{t \rightarrow \pm\infty} \frac{t^3}{e^{t^2}} = 0$$

$$\frac{1}{x^2+y^2+z^2} e^{-\frac{1}{x^2+y^2+z^2}} \rightarrow 0 = 0 \cdot x + 0 \cdot y + 0 \cdot z + \epsilon \cdot \sqrt{x^2+y^2+z^2}$$

$$\epsilon = \frac{1}{(x^2+y^2+z^2)^{3/2}} e^{-\frac{1}{x^2+y^2+z^2}}$$

$$\left. \begin{matrix} x \rightarrow 0 \\ y \rightarrow 0 \\ z \rightarrow 0 \end{matrix} \right\} \Leftrightarrow x^2+y^2+z^2 \rightarrow \infty$$

$$\lim_{t \rightarrow \infty} \epsilon = \lim_{t \rightarrow \infty} \frac{1}{t^{3/2}} e^{-\frac{1}{t}} = 0$$

(0,0,0) NS/K'3) 2/2 / f(x,y,z) K's

$$\forall x, y \quad 0 \leq |f(x, y)| \leq x^2 + y^2 \quad \text{C) } \delta \text{ ו } \epsilon$$

$$f(0, 0) = 0$$

$$0 \leq \left| \frac{f(x, 0) - f(0, 0)}{x} \right| \leq \left| \frac{x^2}{x} \right| = |x|$$

$$\frac{\partial f}{\partial y}(0, 0) = 0 \quad \text{וד} \quad \frac{\partial f}{\partial x}(0, 0) = 0 \quad \text{וד}$$

$$|f(x, y) - f(0, 0)| = |0 \cdot x + 0 \cdot y + \epsilon \sqrt{x^2 + y^2}| \leq x^2 + y^2$$
$$0 \leq |\epsilon| \leq \sqrt{x^2 + y^2}$$

$$\lim_{\substack{x \rightarrow 0 \\ y \rightarrow 0}} \epsilon = 0 \quad \text{"ג'והו" ו } \delta \text{ ו } \epsilon \text{ ו } \rho \delta$$
$$(0, 0) \sim \sqrt{\delta^2 + \delta^2} = \delta \sqrt{2}$$

~C3NDL (x_0, y_0, z_0) וקדו ור'נ ור'נ ור'נ ור'נ ור'נ

$$z = x^2 + y^2$$

$$\frac{\partial z}{\partial x} = 2x; \quad \frac{\partial z}{\partial y} = 2y$$

$$z - z_0 = 2x_0(x - x_0) + 2y_0(y - y_0)$$
$$z_0 = (x_0^2 + y_0^2)$$

$$z - 1 = -1(x) - 1(y)$$
$$z_0 = \left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right)^2 = \frac{1}{2} \quad \text{ודן, } x_0 = y_0 = -\frac{1}{2} \quad \text{וד}$$

$$z - \frac{1}{2} = -1(x + \frac{1}{2}) - 1(y + \frac{1}{2})$$

$$x + y + z = -\frac{1}{2}$$

$$\frac{\partial f}{\partial u} = \frac{\partial f}{\partial x} \frac{\partial x}{\partial u} + \frac{\partial f}{\partial y} \frac{\partial y}{\partial u} =$$

8) SKL

$$= \frac{1}{1 + \left(\frac{y}{x}\right)^2} \left(-\frac{y}{x^2}\right) \cos v + \frac{1}{1 + \left(\frac{y}{x}\right)^2} \left(\frac{1}{x}\right) \sin v =$$

$$= \frac{-y}{x^2 + y^2} \cos v + \frac{x}{x^2 + y^2} \sin v =$$

$$= \frac{-u \sin v}{u^2} \cos v + \frac{u \cos v}{u^2} \sin v = 0$$

$$\frac{\partial f}{\partial v} = \frac{\partial f}{\partial x} \frac{\partial x}{\partial v} + \frac{\partial f}{\partial y} \frac{\partial y}{\partial v} =$$

$$= \frac{-y}{x^2 + y^2} (-u \sin v) + \frac{x}{x^2 + y^2} (u \cos v) =$$

$$= \frac{u^2 \sin^2 v}{u^2} + \frac{u^2 \cos^2 v}{u^2} = \sin^2 v + \cos^2 v = 1$$

9) SKL

$$\frac{\partial z}{\partial x} = 1 \cdot f(t) + x f'(t) (-2x)$$

$$\frac{\partial z}{\partial y} = x f'(t) (2y)$$

$$\frac{1}{yz} \left(x^2 \frac{\partial z}{\partial y} + xy \frac{\partial z}{\partial x} \right) = \frac{1}{yz} \left(x^3 f'(t) 2y + \right. \\ \left. + x \cdot y f(t) - 2x^3 y f'(t) \right) =$$

$$= \frac{yz}{yz} = 1 \quad \text{: impl}$$

$$t = \frac{y}{x} \quad \text{NOI 10 } \delta_{ice}$$

/ NOJ 10 δ_{ice}
 \(\delta_{ice} \delta_{ice} \delta_{ice} \delta_{ice}\)

$$\frac{\partial f}{\partial y} = \varphi'_t \cdot t'_y = \varphi'(t) \frac{1}{x}$$

$$\frac{\partial f}{\partial x} = \varphi'_t \cdot t'_x = \varphi'(t) \left(-\frac{y}{x^2}\right)$$

$$\frac{\partial^2 f}{\partial x^2} = \varphi''(t) \cdot \left(-\frac{y}{x^2}\right)^2 + \varphi'(t) \cdot \frac{2y}{x^3}$$

$$\frac{\partial^2 f}{\partial y^2} = \varphi''(t) \cdot \left(\frac{1}{x}\right)^2$$

$$\frac{\partial^2 f}{\partial x \partial y} = \varphi''(t) \left(-\frac{y}{x^2}\right) \frac{1}{x} + \varphi'(t) \left(-\frac{1}{x^2}\right)$$

$$= x^2 \frac{\partial^2 f}{\partial x^2} + 2xy \frac{\partial^2 f}{\partial x \partial y} + y^2 \frac{\partial^2 f}{\partial y^2} \quad | \text{NOI}$$

$$= \varphi''(t) \left(-\frac{y}{x}\right)^2 + \varphi'(t) \frac{2y}{x} + 2\varphi''(t) \left(-\frac{y}{x}\right) + \varphi''(t) \left(\frac{y}{x}\right)^2 = 0$$